
Practice questions – Year 4 – Rounding

1. Round 674 to the nearest 10 (round to the nearest 10, 100 or 1,000)

2. Round 1,387 to the nearest 10 (round to the nearest 10, 100 or 1,000)

3. Round 928 to the nearest 10 (round to the nearest 10, 100 or 1,000)

4. Round 774 to the nearest 100 (round to the nearest 10, 100 or 1,000)

5. Round 1,998 to the nearest 100 (round to the nearest 10, 100 or 1,000)

6. Round 3,846 to the nearest 100 (round to the nearest 10, 100 or 1,000)

7. Round 1,782 to the nearest 1,000 (round to the nearest 10, 100 or 1,000)

8. Round 3,647 to the nearest 1,000 (round to the nearest 10, 100 or 1,000)

9. Round 545 to the nearest 1,000 (round to the nearest 10, 100 or 1,000)
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Practice question answers – Year 4 – Rounding

1. Round 674 to the nearest 10 is 670 (round to the nearest 10, 100 or 1,000)

2. Round 1,387 to the nearest 10 is 1,390 (round to the nearest 10, 100 or 1,000)

3. Round 928 to the nearest 10 is 930 (round to the nearest 10, 100 or 1,000)

4. Round 774 to the nearest 100 is 800 (round to the nearest 10, 100 or 1,000)

5. Round 1,998 to the nearest 100 is 2,000 (round to the nearest 10, 100 or 1,000)

6. Round 3,846 to the nearest 100 is 3,800 (round to the nearest 10, 100 or 1,000)

7. Round 1,782 to the nearest 1,000 is 2,000 (round to the nearest 10, 100 or 1,000)

8. Round 3,647 to the nearest 1,000 is 4,000 (round to the nearest 10, 100 or 1,000)

9. Round 545 to the nearest 1,000 is 1,000 (round to the nearest 10, 100 or 1,000)
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